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(b) Flaverage) = Ap/Ar = +20!Df0i-'
= + 1000 N

Alternative answer: L
# changes at a uniform rate, therefore
Flaverage) = (minimum force +
maximum force)/2
= (0 + 2000)/2N

= +1000 N
(c) may = Ap |
therefore Av = Ap/m = -I-ZO,Drr] .
= +200 ms™ |
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A pile dnver of mass 50 kg ! -1__m at
30ms strikes a pile and rebpn up at
1.0 ms . If the pile driver is in cont: _:@_‘m “the |

pile for 0.50's, calculate:
(&) the lmpulsc impam:dm ) { l '.' .
(i) the pile dniver; 1,_ .
(1) the pile;
(b) the average force exerted on
(1) the pile dnver; i
(ii) the pile. ‘i
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